2003-2004 7TH GRADE CONTEST SOLUTIONS

29.

3xv25 =15=5xv9. A)v3 B)vI C)vi5 D) el

30.

When you divide my fraction by yours, the result is 40. When you
divide your fraction by mine, the result is 1/40.
A) 0025 B) 025 C) 040 D) 250

3L

Dimensions could be 1x48, 2X 24, 3x 16, 4x 12,
or 6 X 8, with perimeters 98, 52, 38, 32, and 28.
A) 28 = 2(6+8) B) 38 = 2(3+16)
C) 58 (impossible) D) 98 = 2(1+48)

32.

Since I have two nickels for every dime, my
nickels are worth as much as my dimes, $3.30. =

A) $1.15 B) $330 C) $660 D) $13.20

33.

27 28 54 52 72 68 18
A z<mg B >wm 9% m Dy>y

The least multiple of 2, 4, 6, 8 is 24. The multiples of 24 are 24,
48,72, 96, 120, 144, . . . . The list’s first perfect square is 144.

A) 64 B) 144 C) 576 D) 2304

35.

4 =28 and 9* = 32 A) 81 B) 18 ¢ 7 D) 38

35.D

36.

The greatest common factor of 200 and 600 is 200.
A) 10 B) 10x10 C) 10x20 D) 10x20%30

36.

37.

Indxd —3=3x8x1
7x§xg—3—5xzx9x9. A)27 B)18 C)9 D)3

37. ¢

38.

Try the choices. Use the formula: Area 5
xtr®. For choice A, Area = % = nx(%) .
Thus, a radius of the frisbee is %

M1 By OF Do

39.

31 32 3%, 3% end in 3,9, 7, 1. This now repeats
in blocks of 4. Ones’ digit of 20032 is 1.
A) 9 B) 7
0 3 D) 1

38.

39.

(% + .1%2)+(% + 132)4,(% + 1§§)+ = 1004+ 100+100+... = 100X50 = 5000.

40
A

A) 5000 B) 10000 C) 15000 D) 20000

The end of the contest &y f
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Contest Information

m Solutions Turn the page for detailed contest solutions (written in the
question boxes) and letter answers (written in the Answers column to
the right of each question).

m Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, deserve commendation!

m Answers & Rating Scale Turn to page 140 for the letter answers to
each question and the rating scale for this contest.
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